Beenigh Frein I & Fr fo In

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Singapore NRIC
Owner ID:	219G
Vehicle Details	
Vehicle No.:	SFK3836G
Vehicle to be Exported:	No
Intended Deregistration Date:	04 Apr 2023
Vehicle Make:	HONDA
Vehicle Model:	CIVIC 2.0L A
Primary Colour:	Black
Manufacturing Year:	2008
Engine No.:	K20Z23502032
Chassis No.:	JHMFD26408S202032
Maximum Power Output:	114.0 kW (152 bhp)
Open Market Value:	\$22,231.00
Original Registration Date:	16 Sep 2008
First Registration Date:	16 Sep 2008
Transfer Count:	7
Actual ARF Paid:	\$22,231.00
Intended PARF Rebate Details	
PARF Eligibility:	Forfeited
PARF Eligibility Expiry Date:	
PARF Rebate Amount:	\$0.00
Intended COE Rebate Details	
COE Expiry Date:	15 Sep 2023
COE Category:	B - Car (1601cc & above)
COE Period(Years):	5
PQP Paid:	\$16,689.00
COE Rebate Amount:	\$1,492.00
Total Rebate Amount:	\$1,492.00

Please note that the 5-year COE for this vehicle cannot be further renewed. The vehicle must be de-registered upon COE expiry or when the vehicle reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 04 Apr 2023



New Cars Used Cars Car Loan Rental Cars Sell Cars Directory Products Insurance Articles Forum Resources



Car Accessories & Products

Pimping up your ride? Browse thousands of car products for even more choices! Read honest reviews by our trusted consumers before you make a purchase.



Civic 1.8

Price Range

Depreciation → > 10 year(s) old → Vehicle Type

Search

Advanced

Used Car Comparison

--- Comparing 3 Vehicles ---

Honda Civic 2.0A (COE till 10/2023)

09/2023)

Honda Civic 1.8A VTi-S G (COE till

Add to Shortlist

Honda Civic 1.8A VTi-S (COE till 10/2023)



Use search bar above to se

NO IMAGE AV

Til Clear All

Add all to Shortlist

Add to Shortlist

Add to Shortlist Back to search result CAR DETAILS \$7,800 \$7,000 \$11,000 Price N.A. N.A. Instalment N.A. 02-Oct-2008 29-Oct-2008 13-Nov-2008 **Registration Date** 2008 2008 2008 Manufactured 152,500 km Mileage 167,000 km Auto Auto Transmission Auto 1,799 cc **Engine Cap** 1,998 cc 1,799 cc \$1,467 /yr \$1,467 /yr Road Tax \$1,815 /yr 103.0 kW (138 bhp) 103.0 kW (138 bhp) 114.0 kW (152 bhp) 1,240 kg 1,219 kg 1,312 kg **Curb Weight** Stock 2.OL DOHC I-VTEC engine. 5 speed auto transmission. 4 SRS airbags. Powerful and reliable 1.8L i-VTEC **Features** engine, producing 140bhp with 5 speed automatic gearbox detached with paddle shifter, SRS airbags, ABS. Multi functional steering wheel with paddle shift and cruise control. Full Bodykit. 17" Type R sports rims and leather seats, android player with Accessories BC suspension, reverse sensor, wireless apple carplay and android auto, solar film. retractable side mirrors, Leather Seats. Pioneer Bluetooth Audio. Full loan available! New Road Tax & One of the favorite start up car among Good to drive to end of COE. Description the locals! Stable and responsive 1.8 VTEC engine! Interior well taken care of. Inspection Done. Buy with peace of Immaculate condition from interior to mind! In house loan or bank loan exterior. Absolutely no repairs needed. Fully stock condition. Very well taken available! High approval rate! Fast and easy loan approval! All our vehicles has Comes with Lufi XF revolution gauge and loud exhaust. Speedometer changed to Type-R red. Best for short term drive! care of by previous owner! \$0 downpayment available, low interest rate, full loan available, contact us to make your undergone a 100 points check at Interested buyer may arrange for

booking for test drive today!

viewing.

spot upon payment. No worries! Open

reputable workshop! Accident free! Immediate transfer of ownership on the \$16,140 \$16,689 COE \$16,140 \$18,004 \$22,814 \$25,954 OMV \$18,004 \$22,814 \$25,954 \$13,750 /yr N.A. Depreciation \$12,170 /yr More than 6 6 No. of Owners Sedan **Type of Vehicle** Sedan COE Car COE Car, Direct Owner Sale COE Car, Premium Ad Car Category

HD Perfect Autowork Pte Ltd

Company Reg No: 202136904Z

8 Kaki Bukit Ave 4, #08-09 Premier@Kaki Bukit Singapore 415875

Tel: 6341 6789 Fax: 6341 6778

E-mail: hdperfectautowork@gmail.com



DATE: 03.04.2023

TO

: SOMPO MOTOR CLAIMS DEPTS

VEHICLE NO

: SFK3836G

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 01.04.2023 : 14:50 HOURS

WE APPEND HEREUNDER THE ESTIMATED COST OF REPAIRS TO BE CARRIED OUT TO THE ABOVE VEHICLE.

CLAIM DETAIL : PARTS

S/N	DESCRIPTION	QTY	NIT LIST PRICE	TO	PRICE	
1	BOOTLID Deved	11	\$ 610.70	\$	610.70	
2	BOOTLID REFLECTOR LHat, RH Could	2	\$ 179.90	\$	359.80	
3	BOOTLID KEY LOCK Me W	1	\$ 198.40	\$	198.40	*
4	BOOTLID NUMBER PLATE LAMP New	2	\$ 37.80	\$	75.60	*
	BOOTLID NUMBER PLATE COVER GARNISH	1	\$ 171.60	\$	171.60	1.
6	BOOTLID INNER STOPPER he w	2	\$ 18.00	\$	36.00	t
7	BOOTLID HINGE XI WU	2	\$ 78.00	\$	156.00	+
8	BOOTLID INSULATOR XLe 12	1	\$ 210.70	\$	210.70	*
9	BOOTLID TOP LOCK Danueld	1	\$ 194.50	\$	194.50	
10	BOOTLID LOWER LOCK Me mg	1	\$ 15.00	\$	15.00	+
11	BOOTLID LOGO 2	1	\$ 35.70	\$	35.70	
12	BOOTLID EMBLEM '2.0'	1	\$ 28.00	\$	28.00	
13	BOOTLID EMBLEM 'V-TECH'	1	\$ 37.10	\$	37.10	
14	BOOTLID EMBLEM 'CIVIC'	1	\$ 29.10	\$	29.10	
15	BOOTLID WEATHER STRIP	1	\$ 169.70	\$	169.70	
16	REAR FENDER COWLING	2	\$ 79.80	\$	159.60	+
17	REAR FENDER INNER TRIM LH Delad	2	\$ 298.80	\$	597.60	29850
18	REAR FENDER AIR VENT LH	1	\$ 72.60	\$	72.60	1
	REAR BUMPER Delec	1	\$ 698.60	\$	698.60	
	REAR BUMPER SIDE RETAINER	2	\$ 24.10	\$	48.20	
	REAR BUMPER EXHAUST GARNISH ***	1	\$ 59.90	\$	59.90	1

TO

: SOMPO MOTOR CLAIMS DEPTS

VEHICLE NO

: SFK3836G

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 01.04.2023

TIME OF ACCIDENT

: 14:50 HOURS

TAILLAMP LH ut, RH and TAILLAMP LOWER BRACKET REAR END PANEL REAR END PANEL TOP GARNISH TOP	2 2 2 2	\$ \$ \$	28.80 299.40 198.20 29.10	\$ \$ \$	57.60 598.80 396.40 58.20
TAILLAMP PANEL TAILLAMP LOWER BRACKET REAR END PANEL REAR END PANEL TOP GARNISH Delice	2 2 1	\$	198.20	\$	396.40
TAILLAMP PANEL TAILLAMP LOWER BRACKET REAR END PANEL REAR END PANEL TOP GARNISH Delector REAR END PANEL TOP GARNISH	2	\$	29.10		
REAR END PANEL DEWELD REAR END PANEL TOP GARNISH	1			\$	58.20
REAR END PANEL TOP GARNISH Delac		\$	260.00		
REAR END PANEL TOP GARNISH			360.00	\$	360.00
	1	\$	114.40	\$	114.40
BARRIOR BANKI	1	\$	992.20	\$	992.20
Dov	1	\$	316.00	\$	316.00
3 - 4 - 2	1	\$	29.20	\$	29.20
REAR SPARE TIRE BOLT	1	\$	104.50	\$	104.50
Do -	1	\$	968.90	\$	968.90
2	1	\$	870.90	\$	870.90
	1	\$	136.40	\$	136.40
AM	1	\$	745.40	\$	745.40
	1		143.80	\$	143.80
			16.00	\$	32.00
	1		16.00		16.00
F	REAR FLOOR PANEL REAR FLOOR PANEL TOP BOARD REAR SPARE TYRE BOLT REAR TOOLS SPONGE TRAY REAR CHASSIS MEMBER CENTER EXHAUST CENTER EXHAUST INSULATOR	REAR FLOOR PANEL TOP BOARD REAR SPARE TYRE BOLT REAR TOOLS SPONGE TRAY REAR CHASSIS MEMBER CENTER EXHAUST CENTER EXHAUST INSULATOR REAR EXHAUST INSULATOR 1 REAR EXHAUST MOUNTING 1 1 1 1 1 1 1 1 1 1 1 1 1	REAR FLOOR PANEL TOP BOARD Deld 1 \$ REAR SPARE TYRE BOLT 1 \$ REAR TOOLS SPONGE TRAY 1 \$ REAR CHASSIS MEMBER 1 \$ CENTER EXHAUST 1 \$ REAR EXHAUST INSULATOR 1 \$	REAR FLOOR PANEL REAR FLOOR PANEL TOP BOARD REAR SPARE TYRE BOLT REAR SPONGE TRAY REAR CHASSIS MEMBER CENTER EXHAUST CENTER EXHAUST INSULATOR REAR EXHAUST INSULATOR REAR EXHAUST MOUNTING 1 \$ 992.20 1 \$ 316.00 1 \$ 29.20 1 \$ 104.50 1 \$ 968.90 1 \$ 968.90 1 \$ 870.90 1 \$ 136.40 1 \$ 136.40 1 \$ 143.80 1 \$ 143.80 1 \$ 16.00	REAR FLOOR PANEL BULLLO REAR FLOOR PANEL TOP BOARD REAR SPARE TYRE BOLT REAR SPONGE TRAY REAR CHASSIS MEMBER CENTER EXHAUST CENTER EXHAUST INSULATOR REAR EXHAUST INSULATOR REAR EXHAUST MOUNTING 1 \$ 992.20 \$ 316.00 \$ 316.00 \$ 992.20 \$ 1 \$ 316.00 \$ 1 \$ 29.20 \$ 1 \$ 104.50 \$ 1 \$ 968.90 \$ 1 \$ 870.90 \$ 1 \$ 136.40 \$ 1 \$ 136.40 \$ 1 \$ 143.80 \$ 1 \$ 143.80 \$ 1 \$ 16.00 \$ 1 \$ 16.00 \$

TOTAL PRICE \$ 9,905.10 LESS 20% \$ 1,981.02 SUB TOTAL PRICE \$ 7,924.08

S/N	DESCRIPTION	QTY	UN	IT S/NETT	тот	AL S/NETT	
	REAR NUMBER PLATE New	1	\$	50.00	\$	50.00	+
	REAR BUMPER CLIP (SET)	11	\$	50.00	\$	50.00	-30
3	REAR BUMPER LOWER SPOILER (SPECAIL TYPE)	1	\$	1,800.00	\$	1,800.00	850
1	TAIL LAMP CLIP	4	\$	30.00	\$	120.00	-20
5	TAILLAMP PANEL SEALANT	2	\$	60.00	\$	120.00	
Name of the last	BOOTLID SEALANT	1	\$	60.00	\$	60,00	45
_	BOOTLID NUMBER PLATE COVER GARNISH CLIP (SET)	1	\$	20.00	\$	20.00	4
	REAR FENDER COWLING CLIP (SET)	1	\$	60.00	\$	60.00	+
-	TOWN CLIPS (SET)	1	\$	60.00	\$	60.00	
9	REAR END PANEL TOP GARNISH CLIPS (SET)	1	\$	50.00	\$	50,00	20
11	A LOW CEAL MATION CEAL MAIN	1	\$	120.00	\$	120,00	160.
-	REAR FLOOR PANEL INSULATION SEAL MAN	1	\$	350.00	\$	350.00	X-2

TO

: SOMPO MOTOR CLAIMS DEPTS

VEHICLE NO

: SFK3836G

MODEL

: HONDA CIVIC

DATE OF ACCIDENT : 01.04.2023

TIME OF ACCIDENT : 14:50 HOURS

A				
1	\$	180.00	\$	180.00
2	\$	250.00	\$	500.00
1	\$	220.00	\$	<u>220.00</u> - 2
	1 2	1 \$ 2 \$ 1 \$	2 \$ 250.00	2 \$ 250.00 \$

TOTAL

3,760.00

CLAIM DETAILS: LABOUR AND SPRAY PAINTING

/N	JOB DESCRIPTION	PRICE	ADJUSTED COST
1	PANEL BEATING, REMOVAL AND REPLACING PARTS	\$ 2,200.00	1203
2	TO SPRAY PAINT AFFECTED AREA	\$ 1,600.00	900
3	TUFF COAT	\$ 250,00	80.
4	WIRING CHECK	\$ 250,00	30
	REMOVE AND REFIX CUSHION SEAT/ UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR	\$ 180.00	85
6	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING	\$ 80.00	50
7	REAR CHASSIS ALIGNMENT	\$ 250.00	X
8	TRANFER BOOTLID MECHANISM	\$ 80,00	60
1:	2 CONDUCT WATER LEAKAGE TEST	\$ 80.00	×
1	REMOVE AND REFIX REAR EXHAUST 3 PIPE	\$ 180.00	×
1	REMOVE AND REFIX REAR BUMPER 4 LOWER SPOILER	\$ 200.00	×
	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT/CONTROL UNITS, RESET 6 MEMORIES TO SPECIFICATION ETC.	\$ 180.00	×

TO

: SOMPO MOTOR CLAIMS DEPTS

VEHICLE NO

: SFK3836G

MODEL

: HONDA CIVIC

DATE OF ACCIDENT

: 01.04.2023

TIME OF ACCIDENT

: 14:50 HOURS

ESTIMATE REPORT

11,684.08 TOTAL PARTS COST 5,530.00 TOTAL LABOUR COST : \$ 17,214.08 TOTAL REPAIR COST : \$

Adrian G h | S 03/04/23. 89 Days

NB: THIS IS ONLY AN ESTIMATE AND SHOULD ADDITIONAL WORK BE FOUND NECESSARY TO BE CARRIED OUT IN THE COURSE OF REPAIRS, EXTRA MATERIALS AND LABOUR COST WILL BE CHARGED ACCORDINGLY WHICH HOWEVER, YOU WILL BE INFORMED PRIOR TO ACTION TAKEN.

PARTS PRICES ARE SUBJECT TO CHANGES.

YOURS FAITHFULLY,

IREME

SERVICE ADVISOR

IRENE

HP: 8297 9787

LKK Auto Consultants hence notify

the Repairer of the following:

- To resurvey before/after spray painting To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date: